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SA -G (BH) - NRAY - BAS Ol & 24 e bl RS2
- 98 1,928,200 x1H x 123 23,139
A 3,468,900& x2H x12& 83,254
(OFSJE=; 34,192
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OE3=4 89,415
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—bH < Xt 40,0002 «11H 128 5,280
-2 LIE 20,000 x11H «12& 2,640
2. PIE| 60,0003 *4H « 122 2,880
ol PIE| 100,000& 1= 123 1,200
(OFSF=s b =) P = 9,960
253 0l & 130,000& 1H +12& 1,560
-20~25H 0 F 110,000& »2H «12& 2,640
-15~20& 0| Bt 80,0003 x2H x12& 1,920
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=5 50,0003 *10H «12& 6,000
ORI 7,584, 7003 4 . 1%+ 123 3,732
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ozgdRaY 250,000& x5 12 15,000
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I OpEYS Y HNE SA(SR)(SEHLN/5Y - 58)
el HA el (erol: a2
SA Y- (3H) - NRANY - BE2 Ol &t 04 e Hms2
02 83294l 43,000 40,395 2,605
OFAZe & FANES 21,150
oA 7,350
o=ugxz el 14,500
A ZA X 29,880 0 29,880
201 fEr2E | 20,880 0 20,880
01 At 22|l 18,000 0 18,000
OXaA=x~ AN XA 18,000
02 3524l 2,880 0 2,880
OXFA=2 2AH N 2,880
406 JIEHAHE 01 & 9,000 0 9,000
01 JIEtX=01 A 9,000 0 9,000
oA ANLEZ L HNS N 9,000
HY 2L (SSAUERX L) (IIEH/IIEH 880,705 801,274 79,431
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=2 27.160
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01 2= 677,435 608,267 69, 168
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-=MAH 60,0003 x4H 12 2,880
(P 100,000& 18« 122 1,200
OFZ=EIHet= 11,040

- 706 -




e o o

i

EEPUEE PPN
Y2 AU (SSAME
SEET

X4 ) (91 EH/DIEE)

K- B8 o2 (3H) - MEAY - By e
-253 0| &t 130,000& *3H x12& 4,680
-20~253 0] 8F 110,000& »2H +12& 2,640
-15~20E O] G+ 80,000& 2 x12& 1,920
-5~10& 0] 2+ 50,000& *3G x12& 1,800

OfIgsd 5,760
-2 50,000& 8 x12& 4,800
= 40,000& »2H x12& 960

Olss=RaAx< 7,538,200 4 . 1%x12& 3,709

OExgRY 24,960
ol ac 250,000 x6H x12& 18,000
= =y 270,000 »2H 128 6,480
38y 30,0002 *»1&H x12& 360
-Jl=d8EBLEIAS 10,000@ x1H x12& 120

OAZIAZ RS 10,952 x9Y x25A| 2+ x12& 29,571

OFMZ A 140,000& *x10E x12& 16,800
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